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[ECO343] The conflict between employment and _______ is the most widely studied in 
economics.
prices

[ECO343] Conflicts of policy objectives occur when, in attempting to achieve one 
objective, another objective is ___________.
sacrificed

[ECO343] Rising and falling prices are both bad because they bring unnecessary loss 
to some and undue __________ advantage to others
advantage

[ECO343] Which of the followings is not an objective of monetary?
price discrimination

[ECO343] Keynes concept of full employment involves the following except__________.
free trade

[ECO343] _________ is one of the instrument of monetary policy used by Central Bank 
of Nigeria
open market operation

[ECO343] The discussion on monetary policy has centered on the followings except 
____________.
all of the options

[ECO343] Which of these is not among the usual targets of monetary policy?
policy instrument

[ECO343] According to Keynes, full employment means the absence of _________ 
unemployment.
involuntary

[ECO343] Monetary policy is the __________ used by the government of a country to 
achieve macroeconomic objectives.
demand side
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